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General Instructions :
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(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Question Nos. 1 — 4 and 13 — 16 are very short-answer questions carrying

1 mark each. They are required to be answered in one sentence each.

Question Nos. 5 — 6 and 17 — 18 are short-answer questions carrying 3 marks each.

Answers to them should normally not exceed 60 words each.

Question Nos. 7 — 9 and 19 — 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words each.

Question Nos. 10 — 12 and 22 — 24 are long-answer questions carrying 6 marks

each. Answers to them should normally not exceed 100 words each.

Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.



Tug — % (A relume)
SECTION - A (Micro Economics)

1. feume fom #, Seae gure 9% W fiig A & fog B d %1 weem T 2 |
_ (Tt ferehed o1 =7 L) 1
T Y
A
B
0 > I X

(%) rfeaedn § aeft gETei 6 o |
(@) GEeHT T 3190f SR |

() g X 1 HATh IcATEA AT S Y 1 HH ITEH |

(F) Y 1 AT IcATeA AT g X 1 HH ITEH |

In the given figure, the movement on the production possibility curve from point A to

point B shows . (Choose the correct alternative)
Good Y
)

0 > Good X

(a) Growth of all the resources in the economy.
(b)  Underutilisation of resources.
(c) Production of more units of Good X and less units of Good Y.

(d) Production of more units of Good Y and less units of Good X.
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2. 3fid fRR @ ok (T2 Torehed o1 =T ) 1
| () X-3781 % THHTR Heft @ gt 2 |
(@) Y-37& % THHR Heht @ gt 2 |
(1) firar g, S« 31fres T o1 3ced fohar S |
() wedl 8, SIo 3Tk AT o1 3cTed foham S |

CUE]
fr=ferfaa & & it emrd 6 ToET S % fore i T g wd ] 7 (T faehew o weA
)
() MCy =TFC,—-TFCy_;
(@) MCy=ACy-ACy_,
() MCy=AVCy-AVC,
(") MCy=TC,-TCy_,
Average fixed cost curve . (Choose the correct alternative)
(a) 1is a straight line parallel to X-axis.
(b) is straight line parallel to Y-axis.
(c) falls, as more units are produced
(d) rises, as more units are produced

OR
Which of the following formula is correct for calculating marginal cost ?
(Choose the correct alternative)

(a) MCy=TFC,-TFCy_,
(b) MCy=ACy—-ACy_;
(c) MCy=AVCy-AVC,_,
(d MCy=TC,-TCyx_;
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3 JATTA-THld THdA W, ST ScaIgash B0 | (TR ferhed o1 =59 Shifsie) 1
| () ‘S’ IATHR HI I

(@) 3 °S’ THR I Ish

(M) ‘U’ ATHR I dsh

(F) IeA ‘U’ TR hl 5k

The average product curve in the input-output plane, will be . (Choose

the correct alternative)

(a) an ‘S’ shaped curve

(b) aninverse ‘S’ shaped curve
(c) a ‘U’ shaped curve

(d) aninverse ‘U’ shaped curve

4. 3fg a%g X 6t IR qfd T § GUR % SRV Seord! 8, df SR Iid a5h |
L (R em R ) )

JYT
Ff¢ g X hl IR gfd el Ieame ses ht Shivd § ghg o SR Sgad! &, @ SR
fef =k | (T T <1 gfd )

If the market supply of a commodity X changes due to improvement in technology,

the market supply curve will . (Fill up the blank)
OR

If the market supply of a commodity X changes due to rise in price of a factor input,

the market supply curve will . (Fill up the blank)

| 58111 5 %ﬁ



5. oraeR 1 Frfen @ 6 & e a1 sTe s e S ) e

: e ferar=mT o -

(i) “vRA foava o o STIR Foar aehieh 23 TREH hl TAM M HL 77 o T
W UET, T < ANt H Te8 = BAT 8 | — The Economic Times

(i) “THR P SR =i &1 Igriesor 3 ot S8 W= =fge |7 — The Economic
Times

Identify and discuss the nature of the following newspaper reports in terms of
positive or normative economic analysis :

(1) “India jumped 23 points in the World Bank’s ease of doing business index to
77" place, highest in 2 years.” — The Economic Times

(i) “Government should further liberalise the business rules.” — The Economic

Times

6. T SEG3T AT [eh T3 H, IS Ffed L T Hh |

| YT

T T3 T e aegat 3, It |fgd At T i |

Distinguish between substitute goods and complementary goods, with examples.

OR

Distinguish between normal goods and inferior goods, with examples.

7. et S 1 w6 g, i SR T g S & i
i 9 & THETET |

AYAT
Teh ST (e STTEE 1 T hid §U, FTEHM HHTd foeemo gt i diefed 9 § TSy |

Discuss briefly, using a hypothetical schedule, the relation between marginal utility
and total utility.

OR

Discuss briefly, using a hypothetical schedule the concept of diminishing marginal

rate of substitution.
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8. Trmfofea amma s1g=h =i g =i - 4
3T (3hIST H) 0 1 2 | 3| 4
FA AT (X H) 200 | e | e | e 490

el TiEd! AT (3 H) 0 | ... 180 | oo | ..
3Ta it o (3 H) — | 100 | ... 80 | ...

Complete the following cost schedule :

Quantity (in Units) 0 1 2 3 4
Total cost (in %) 200 | o ] e | e 490
Total variable cost (in ) 0 | ... 180 | coco. | ...

Average variable cost (in %) — 100 | ... 80 | ...

9. fewmu fem d, OP sTeR fwifid <hiwd & qu1 OP,| &R gri fuifd Hiwd & |

M

SS

Hma (2H)

DD

0 >
AT (3191 H)

(%) Te=H o feam gam fomt, Sram fima fufor srean fman Hma fFufor o gt
gl
(@) 3w feufd o IR o Gurfed saasr 6l =3 | 1,3)
YT
AT i fob weh ot wfcrreft semr # asg X o et =i 3 qfd aviesr fr=fafad 2 -
Qg = 1700 — 2P

Q, = 1300 + 3P

| a5 X <l HqH hIHd a1 HqeH AT <hi TTUHT 1T |
| 5811 7 E—ﬁ
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In the given diagram, OP is the market determined price and OP, is the price fixed by

the government.

Price (in )

Quantity (in Units)

(a) Identify if the diagram represents, price ceiling or price flooring.
(b) Discuss the likely behaviour of the market in the given condition.
OR

Suppose the demand and supply equations of a commodity X in a perfectly

competitive market are given by :
Qq=1700-2P
Q,=1300 + 3P

Calculate the value of equilibrium price and equilibrium quantity of the commodity X.

10. () W i HIHA A= ol TR W |

(@) afe a%g i Ha § 40% 61 Ihg B AT AT 150 AT 8 FRH 120 P78 & AT
Tl 9% X <l 61T <hl ShiHd el oh T[UTeh <hi TUMT ht | 2,4)

(a) Define price elasticity of demand.

(b) If the price of a commodity rises by 40% and its quantity demanded falls from
150 units to 120 units, calculate coefficient of price elasticity of demand for the

commodity.
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12.

| 58/1/1

“3TTH % FIAUH Yfqhet” & 1 qTead 8 7 STHTH o SIAHH Hfdthel o o] &  foheal ol
HROT st AT HIRTT |

What is meant by “diminishing returns to a factor” ? Discuss any two reasons for the

operation of diminishing returns to a factor.

TSI SR 6T <ffi7 g foerwanati 6t e &t |
YT
ferferiad % e o qut sfeRnfiar qem et sfanfiar § 37w wrse & -
(%) Tershanati st w@
(@) gl i
(1) Tershl @mTd
Elaborate three main features of monopoly form of market.

OR

Distinguish between perfect competition and monopolistic competition on the basis

of following :
(a) Number of sellers
(b) Nature of product

(c) Selling cost



QUg — @ (THY 3redme)
SECTION - B (Macro Economics)

13. Y18 He o fohwal <1 3CTEWI hl Scoid i |

Give any two examples of flow concept.

14. ‘ST ree hl qitemay ST |

Define the term ‘tax’.

15. 9= <fifsre fop uh reufes srefeqaen #, 3t 6 Uiy 2 5,000 HUS T 56 L T 6,000
| HUS B AT 2 | IOTHd:, ITHAT & T 4,000 HUS T 58 T T 4,600 HUS & 1T 2 |
3a uftfefe § diia suuim vt i gea BT | (WEt fehed o1 w3 hifv)

(%) 0.8
(@) 04
() 0.2
(") 0.6

Suppose in a hypothetical economy, the income rises from ¥ 5,000 crores to I 6,000
crores. As a result, the consumption expenditure rises from I 4,000 crores to ¥ 4,600
crores. Marginal propensity to consume in such a case would be . (Choose

the correct alternative)

(@ 0.8
(b) 0.4
© 02
d 0.6

oRio
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16.  STeIfiep TS 1 AT 1R 7 1
i Fror
T[SThITI TS Rl o1 dTcqd & 7

What is meant by primary deficit ?
OR
What is meant by fiscal deficit ?

17. TS AR 61 AT § 37 areft gt TUMET ht Iue Sl gRTid SHifsT | gredt ToET 6

| THE o anur o fore fongl < gfeeshivn w1 Seorg e | 3
AU

“Hehel Te] 3c1E (GDP) feret w1 it srefezrarcen 3 3mfieh sheammor o1 orse geeh TE 8 1

@ T e 1 IugHR HROT Afgd AU 37T Wed R |

Define the problem of double counting in the computation of national income. State
any two approaches to correct the problem of double counting.

OR

“Gross Domestic Product (GDP) does not give us a clear indication of economic
welfare of a country.” Defend or refute the given statement with valid reason.

L 18, Afg uh FAferaeT 3
5 R Fra Tfst § uftad = (AL = T 500 HU
HiHTd s=d S9gid (MPS) = 0.2
[EISIchER @RI
(%) faw s (k)
(@) 3Afam 3/ 4 9ied (AY)
If in an economy :
Change in initial Investments (Al) =% 500 crores
Marginal Propensity to Save (MPS) = 0.2
Find the values of the following :

(a) Investment multiplier (k)
(b) Change in final income (AY)

19.  YSTa Smfeqat foher Tehm Trorea et & 191 g1l & 7 Heig o e hife | 4

How are capital receipts different from revenue receipts ? Discuss briefly.
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| 20.

- s8/1n

fg-aes referawen ® Tfesh AN 6l HEl 1 Ioohg qUT ST H |
YT

feu gu fem & ‘KT fauet s welfa wtar g ¢ 39 aifeufa & wmam & oo et @
TSAh IS IYHTTN hT Iooid h |

A

_ ':} AD
T

(o Hi)
1

zo
45 1 e

9 Y F #3
(3T T YURISATR &)
State and discuss the components of Aggregate Demand in a two sector economy.

OR

In the given figure, what does the gap ‘KT’ represent ? State any two fiscal measures
to correct the situation.

F. .3
g l__..---"'.-"--- : } AD
] =
5 B I'p
] |
=1 |
=L |
= |

450 I X
0 YF Income

(Full Employment Level of Income)

e s ¥ fore -

Haehifaen 37aUe 1 w7 A & ? HaThifaes 3Tauet hi uitfeta o gara % fora foregl
Bl TSR NI 3UTIT o1 Joord Y |

For Blind Candidates :

What is meant by deflationary gap ? State any two fiscal measures to correct the
situation of deflationary gap.

12 Eﬁ’%%‘



21, fe R w6 o e 1 = i 4
| (%) Tuy 3Yfd ht gorT | THT Hi 37wk 2 |
(@) eI (Ex-Ante) SId <hl goiqT § Jeamtid (Ex-Ante) Fe= a8l |

Discuss the working of the adjustment mechanism in the following situations :
(a) Aggregate demand is greater than Aggregate supply.

(b) Ex Ante Investments are lesser than Ex Ante Savings.

22 (%) ‘I e ) g G | 9 e Em s & e R e E o
(@) “ImiEHT SR ($) F Gohrae! TR 393 () T G Ugeil SR 6 T T 74.48 &

T | — The Economic Times
I e 1 & 8 e gu, § 18 uRfeafa w1 I smnd W aed aret g
Y ST A, | 3,3)

(a) Define “Trade surplus”. How is it different from “Current account surplus” ?
(b) “Indian Rupee (F) plunged to all time low of ¥ 74.48 against the US Dollar ($)”.
— The Economic Times

In the light of the above report, discuss the impact of the situation on Indian

Imports.

23, (%) e 3 M, T Pt & met o SesrE AR |
(w6 g, T B v 3 R swe Re s At Rt @) e

S forer=T =t | 2,4
3ty
TG Tureh <t aferT S | SfhT soreft Ht wmg ot eqar w1 et e | ggeht @
Yf¥eh1 B, HEATCH IETEW! gRI FHTY | 6
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(a) State any two components of M; measure of money supply.

(b) Elaborate any two instruments of Credit Control, as exercised by the Reserve
Bank of India.

OR

Define Credit Multiplier. What role does it play in determining the credit creation
power of the banking system ? Use a numerical illustration to explain.

24 & TS AT o YR W THH 3ifq 39 == way Tl 6t ffda s 1 am
<t i -

‘ Tf¥yr
EX R Toramor
(s TH)
() | e 71,000
(i) | wepet el Yot ooy 10,000
(i) | TRl AT 3uMIT == ?
(v) | coe bl i s ?

(v) | forcwi @y e |ied 3 1,000

(vi) | fiee T 2,000
(vi)) | @y 1,200
(viii) | mrofedl @ S 15,000
(ix) | fre« fafa 5,000
(x) | fsft sifom savm == 40,000
(xi) | ST ST BT ITH 3,000
(xil) | yaTe ey 30,000
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Given the following data, find the missing value of ‘Government Final

Consumption Expenditure’ and ‘Mixed Income of Self Employed’.

Amount
S. No. Particulars (in¥
crores)
(1) National Income 71,000
(i1) Gross Domestic Capital Formation 10,000
(i) | Government Final Consumption Expenditure ?
(iv) | Mixed Income of Self-Employed ?
) Net Factor Income from Abroad 1,000
(vi) | Net Indirect Taxes 2,000
(vii) | Profits 1,200
(viii) | Wages and Salaries 15,000
(ix) | Net Exports 5,000
(x) Private Final Consumption Expenditure 40,000
(xi) | Consumption of Fixed Capital 3,000
(xii) | Operating Surplus 30,000

| 58/1/1 15 E—ﬁ



L5811

16



